Teacher – Mrs.Volynskaya 



             Name_____________
Pre-Calculus Review



                       Period _______
* Show work on the separate sheet of paper.

* You may use a DESMOS graphing calculator to check your work!.
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2.  Determine whether the function is symmetric with respect to the x-axis, y-axis and/or the origin. Then determine if the following function is odd, even or neither. Confirm algebraically.
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3.  Find the domain in Interval Notation:
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 4.  Determine between which consecutive integers the real zeros of the following function 
      are located on the given interval. Support your answers numerically using a table.
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5.  Graph the following piecewise function. Then find f(3).
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6.   Describe the following characteristics of the graph of each function: domain, range, end behavior, symmetry, extrema and continuity. And then estimate intervals on which the function is increasing, 

decreasing, or constant.
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7.  Identify the parent function f(x) of each function. Then describe how the graphs of f(x) and g(x) are   

     related ( translation, reflection and dilation).
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             8.  If 
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, find the following functions in simplified form and state  

                 their domain:
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            9.  If 
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, find the following functions and state their domain:
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             10.  Find the inverse of each function and determine if the inverse is a function or not. Explain.
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11.  Identify the type of discontinuity as infinite, jump or removable at x = 0. Justify using the continuity test.

    a)  
[image: image37.wmf](

)

3

fx

x

=

-

             b)  
[image: image38.wmf](

)

2

3

2

x

hx

x

=

-

           c)   
<Answer Keys> ----------------------------------------------------------------------------------------------------
1.  a) -3  b) 
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  c) f(x): 0 and -2  g(x): 2 and 4    d) f(x): (0, 0)  g(x): (0, -8)  e) -15
2. a) symmetric to y-axis, even, show f(-x) = f(x)  
b) neither, show 
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c) symmetric to the origin, odd, show f(-x) = - f(x)   3. a) 
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4.   between -1 and 0,   1 and 2     5.  a)  
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6. a) Domain: 
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, symmetric to the origin, no extrema, infinite discontinuity at x=0, decreasing on  
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, symmetric to y-axis, absolute minimum=-2 at x=0, continuous function, decreasing on  
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 reflected in x-axis, translated 3 units to the right and 2 units up  
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8.  a) 
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  9.    a) 
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 c) 1/2  
10.   a)  
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  The inverse is not a function because there are two outputs (y)  for each input (x)  or because the graph of f(x) failed the horizontal line test.   b) 
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 Yes, it is a function since it passed the horizontal line test.  c) not a function  d) 
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  11.   a) infinite D.    b)  removable D.     c) jump D.       
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